Name: Week 15

Monday Mon. Workspace Tuesday Tues. Workspace
1 | Estimate the product for 57 first graders are going
70 x 24. on a field trip. If each bus
can hold 9 students, how
many buses are needed to
take all the students?
2 | Seven Buford City Albert has two snakes.
School buses operate The garden snake is 10
every day. If each bus inches long. The boa
carries 46 people, about constrictor is 7 times
how many people ride longer than the garden
the buses every day? snake. How long is the
boa constrictor?
3 Write a multiplication 830,024 — 324,867 =
equation to represent the
model.
900 60 3
8
4 | Which pattern follows the On Tuesday, 148 fourth A. 50 B. 40
rule add 3, subtract 1? graders went on a field trip C. 30 D. 10
to Stone Mountain. The staff
A. 40, 43, 46, 49 divided them into 5 tour
B. 50, 53, 50, 53 groups. Which is the best
C. 24,27, 26, 29 estimate of the number of
D.3,1,4,2 students in each group?
5 | Which comparison A. 9 is 3 times as many as 5,400 6 =
sentence best represents | 27-
the equation? B. 3 more than 9 is 27. Basic Fact:
9x3=27
C. 27 is 3 times as many as hundreds + = hundreds
9.
D. 3is 9 times as many as
27.

6 | Calvin paints pictures and sells them at art shows. He charges $56 for a large painting. He charges $25 for
a small painting. Last month he sold six large paintings and three small paintings. How much did he make
in all?




Wednesday

Wed. Workspace

Thursday

Thurs. Workspace

72=8x9

times as many as

is

Avery can text 54 words
per minute. How many
words can she text in 24
minutes?

800,000 + 631,548 =

In a math game, Leo reads
four statements about the
number 39. He has to pick
the true statement to win
the game. Which
statement should Leo

A. 39 is divisible by 2.
B. 39 is divisible by 3.

C. 39 is divisible by 5.

choose? D. 39 isa prime
number.
Find the missing Find the missing number.
number.
_ +7=6
3/+__ =9

Round 721,853 to the There are 24 people A.24+8=32
nearest ten thousand. waiting to go on the roller

coaster ride. Eachridecan | B.24-8-8=38

accommodate 8 people.
Which number sentence
can be used to find how

C.24-8-8-8=0

many rides are needed? D.24-8 =16
Which of the following Write a division sentence
shows a factor pair for to describe the model. 0 0 0
the number 16? 0
0 0 0
A.2and 8 0
0 0 0
B. 2 and 32 0 0 0
C.8and 16
D. 16 and 32

Ann is baking cookies. She bakes three dozen oatmeal raisin cookies, two dozen sugar cookies, and four
dozen chocolate chip cookies. Ann gives away two dozen oatmeal raisin cookies, 1 %2 dozen sugar
cookies, and 2 ¥ dozen chocolate chip cookies. How many total cookies does she keep?




